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4. ZIMH=otsS2

410 G120 EILY EM HIHEIIsSH HE2 Ut 8L (29 &d)
(1) g 2l

SIAKH FAIR(F) XI22(% SO AHLIpH
EatsLiet 1,000 100.00 10,000 10,000
(R)IEsEHH 10,500 50.00 105,000 105,000
BIRAEDRHIZE 46 1.01 460,000 460,000
(REFSTAZZIHE 31,000 100.00 310,000 310,000
(RN= 5,000 50.00 50,000 50,000
(R)ROITARZZIHE 6,000 100.00 60,000 60,000
(S)MIOIHOIEXIHL 330,000 100.00 3,300,000 3,300,000
() E=HolA2Y2 1,900 - 6,460 6,460
=l 15,000 - 52,500 52,500
(Z5) Ol ZEI O A 1,000 - 7,000 7,000
OIDIESA 30 - 39,474 118,586
LI 3,535 - 178,776 132,763
FEEH3 1,665 - 10,164 2,763
AH 1,250 - 77,893 74,583
EH 278 9,935 4,917

g 2 408,204 - 4,677,202 4,694,572
(2) & DI

IPNT=: FAIR(F) XEE(% F=otoH AH2IoH
EatsLt 1,000 100.00 10,000 10,000
(R)IHEZEIHL 10,500 50.00 105,000 105,000
BIRAXBHIZE 46 1.01 460,000 460,000
(R)FSRAZRIE 31,000 100.00 310,000 310,000
(RIM= 5,000 50.00 50,000 50,000
(R)TOIXtARRIR|THE 6,000 100.00 60,000 60,000
() E=HoloAgy 2 1,900 - 6,460 6,460
0122 15,000 - 52,500 52,500
(E3][E=AES 1,000 - 7,000 7,000
OI0ESZ 30 - 39,474 106,306
LI 3,535 - 178,776 187,458
Exde [T} 1,665 - 10,164 7,029
ARE 1,250 - 77,894 58,249

& A 77,926 - 1,367,268 1,420,002
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42012 Bl & =SS E AMEd Bl NEsSdHl2 SEIINE dEd
QA =8g = 8l 32 FSEIZ EototAdsLIth

51 A XNSYIIS XS AN CHe NI 2E S8 S22 USH 25U (HY: & )
nmng Jl
SIAIH FA(F) X2E(% FSROt =LA E0 PRl
(Fai=c== ,600 49.00 686,000 6,345,321 6,345,321
(2 & Il
SIAH FA(F) K22(% FH=S20t =X E 0 HH AEeH
(F=cY 68 49.00 686,000 4,938,255 4,938,255
ZELICH(ES &3 )

& 2l
S|AMY JIEREIIN | IBHE(HD) | K2HEQ | NSNS | J|UES)i
(Fai=c= 4,938,255 - 1,407,066 - 6,345,321
(2) & J|
3|AbY JIERSIIH | JBHS(XHD) | K2HEQ | NSNS | J|Lxs)i
(== 4,017,322 - 920,933 - 4,938,255
B.3EI|Y M NEHIIEXIAIL % WREB= U2 2SLICH(ER - &)
5IAMY KHAHEH SN OH=oH &012=0/2!
(Fei=ce ,808,426 17,858,792 15,879,430 2,871,563
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6. &JIHNH=

SOOI MY ST AIIUHHS32 WES Gt Z5UCLCH (29 &)
(1) & 2l

Hellw PIES=1L E=I) DIEAES J|u=o
(R)EEXAZRITE 1,530,000 565,000 200,000 1,895,000
(R)aIA 11,090,000 3,843,000 11,075,000 3,858,000
olare 12,000,000 - 10,000,000 2,000,000
QEA 79,491 - 79,491 -
(R)POIXtALZRICHE 3,800,000 185,000 910,000 3,075,000
(F)elols2a 2,000,000 - 15,628 1,984,372
& - 30,000 7,500 22,500
=N - 100,000 - 100,000
o104 - 100,000 - 100,000
Bl - 50,000 - 50,000
() MIOIHIOIEXIHE - 3,910,000 3,800,000 110,000
H OISR - 10,000,000 2,727,640 7,272,360
Sles S - 50,000 - 50,000
J|E 52,878 - - 52,878

g 30,552,369 18,833,000 28,815,259 20,570,110
(2) & DI

HehH PJES=1l E=) PIEAES pJ[ly=
(R alA 10,760,000 2,070,000 (1,740,000) 11,090,000
QA 104,833 100,000 (125,342) 79,491
olaty 10,000,000 8,300,000 (6,300,000) 12,000,000
(R) AT TR 1,780,000 330,000 (580,000) 1,530,000
() FoUXARR2| TS 3,750,000 1,090,000 (1,040,000) 3,800,000
() al5t=AHA - 2,000,000 - 2,000,000
J|E 56,458 15,000 (18,580) 52,878
| 26,451,291 13,905,000 (9,803,922) 30,552,369
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7. =SS

ot

B &=
[=)

—

—
0=

>
=

SOI9 MIIE YA SETA BELHS ST ZSLICHL(S2 : H)
(1) g 7

2 2 | JI=2% S | M 2 | JEm | 20omAn | o3y
&X 1,089,100 - - - - 1,039,100
212 248,774 - - - (8112) 240662
N 97,779 | 47,616 - - (668%6) 78569
HI= 8,041 5,182 - - (5524) 769
INERZY 3 - - - - 3
AMZOIA | 16,700 - - - - 16,700
2p] 1,410,407 | 52,798 - - (80462) 1,382,743
(2)& 7l

2 o2 | )3 S | A 2 | JESZ | 20w | D239
EX 1,196,565 - (157,465) - - 1,089,100
212 374,735 -1 (114,664 -1 (29| 248774
N 195,155 ) -/ (91608  97.779
b= 7,722 9,057 (859) - (8079 804
INERZN 2,498 - - - (2489) 3
AMZOITIA | 16,700 - - - - 18700
2] 1,793,375 9,257 | (278,758) - (113467)| 1,410,407

SOI2D ®IIY B A 2REHD Us EXS BAIXI oS (1S 2L
SRCETREE)
TEItoH SAIXIDt
- = W <
g Dl & Dl g Dl & Dl
=N SN 1,039,100 1,039,100 587,237 555,128,
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